Implicit Differentiation (special case for the Chain Rule)

Notation Talk

dy the derivative of y w respect to x

the derivative of v u laspect to t

dx the derivative of x u respect to x

How do you find the rate of change of y we spect to x too the circle?

1) Differentiale we respect X on both sides of the equation. * Use the chain rule for all terms why.

$$\frac{d}{dx}x^{2} + \frac{d}{dx}(y^{2} = \frac{d}{dx})$$

$$2x \cdot (1 \stackrel{\cancel{}}{\cancel{}}) + 2(y \cdot 1 \stackrel{\cancel{}}{\cancel{}}) = 0$$

$$2x + 2y \stackrel{\cancel{}}{\cancel{}} = 0$$

@ Collect all the sy terms on one site and all the non-sy terms on the other side.

$$2y = -2x$$

3) Factor out, when needed, the stand isolate it.

$$\frac{dy}{dx} = \frac{-2x}{2y} = \frac{-x}{y}$$

$$\frac{dy}{dx} = \frac{-x}{y}$$

Extend: Write the equation of the tangent lines) $0 \times = 3 \quad \text{for} \quad R + U^2 = 1 \text{lh}.$

$$y^{2} = 16 - x^{2}$$

$$y^{2} = 16 - x^{2}$$

$$y = \pm \sqrt{16 - x^{2}}$$

$$y = (16 - x^{2})^{\frac{1}{2}}$$

$$y = -(16 - x^{2})^{\frac{1}{2}}$$

$$\frac{dy}{dx} = \frac{1}{2}(16 - x^{2})^{\frac{1}{2}}(-2x)$$

$$\begin{array}{c} 7.0. \ t \\ 3^{2} + y^{2} = 16 \\ 9 + y^{2} = 16 \\ y^{2} = 7 \\ y = \frac{1}{7} \end{array}$$

$$M = \frac{dy}{dx} = \frac{-x}{y}$$

$$(3, 17)$$
 $(3, -17)$

$$\frac{dy}{dx} = \frac{-3}{17} = \frac{3}{17}$$

$$\sqrt{-17} = \frac{-3}{17}(\chi-3)$$
 $\sqrt{+17} = \frac{3}{17}(\chi-3)$

$$\sqrt{+17} = \frac{3}{17} \left(\chi - 3 \right)$$

Ex 2.
$$y'' = x - y$$

The D of the insis

On of out

Ex 2y

 $dy' = 2x \frac{dx}{dx} - dy$

eval. of $dy' = 2x \frac{dx}{dx} - dy$

eval. of $dy' = 2x$

Ex 2:
$$y'^2 = x - y$$
The D of the inside

2y $\frac{dy}{dx} = 2x \frac{dx}{dx} - \frac{dy}{dx}$

$$2y \frac{dy}{dx} + \frac{dy}{dx} = 2x$$

$$\frac{dy}{dx}(2y+1) = 2x$$

$$\frac{2y}{2y+1} = \frac{2x}{2y+1}$$

$$2x \frac{dx}{dx} - \left(y \cdot \frac{dx}{dx} + x \frac{dy}{dx}\right) + 2y \frac{dy}{dx} = 0$$

$$2x - y - x \frac{dy}{dx} + 2y \frac{dy}{dx} = 0$$

$$- \times \frac{dy}{dx} + 2y \frac{dy}{dx} = -2x + y$$

$$\frac{dy}{dx}(-x+2y) = -2x+y$$

$$-x+2y \qquad -x+2y$$

$$\frac{dy}{dx} = -\frac{2x+y}{-x+2y}$$